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INPUT A,B,C,D,E
PRINT E,D,C,B,A
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DIM A(100)

DIM B2(73)
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DIM A(1000)

FOR I=1 TO 1000
INPUT A(1)

NEXT |

FOR 1=1000 TO 1 STEP -1
PRINT A(l)

NEXT |
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DIM A(20)

FOR I=1 TO 20
All)=1%2

NEXT |

PRINT A(2), A(3), A(19)
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DIM A(20)
FOR i=1 TO 20

INPUT A(i) SR
NEXT i

FOR i=1 TO 20
Bank = Bank + A(i) P ro5 Coandd

NEXT i
Miangin = Bank / 20

FOR i=1 TO 20
IF A(i) > Miangin THEN PRINT A(i) P> pyw Ceou
NEXT |
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DIM A(20)

FOR i=1 TO 20
INPUT A(i)

NEXT i

FOR I=2 TO 20 STEP 2
PRINT A(i)

NEXT i
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INPUT Tedad
DIM A(Tedad)
FOR i=1TO Tedad

INPUT A(i)
NEXT i
FOR |=1TO Tedad

Majmoo = Majmoo + A(i)
NEXT i
PRINT Majmoo / Tedad
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